&

IR

i x =
1f B AN 6 AREEE SRR R A T HSLR
B4 B A(LS)EIN(1HAELE) 16,000 U » kL

- TEHE (R AT EHRIIRIAKETH Y | BABEEZRIET 2 H DO TIER,
MOAN % AT e EWEXEIS T H3-15 EHER R (X R E4Tr Y v hL)
& AT W M S fe&ETAIH b S MTHE3ASHET
¥ % R (DZEE WIAFER) T, BIEE (HEBE) ORITT OMEDRESRELZ S L1T,
I — T —HIZ L0 B2 A LR TR 57200,
(2) ZEH AFEEE) 1L, BEFICLVEIDR S o LHAITESCHIT, FHED
LTI L2 T U7z 720,
(3) RIFBLH FR S D KEEFEARFIC, HIRE R R 2MEN 2 AEMIZHOWNT
(X, ESERNCHELR LT L2 5720,
Zz o ftt D1y ABOERY £ & OOFREVIITIRIAC I DRFENPAIETHD Z &,
(2) ITHNZ DWW T HALTE RS . ASZATBOE A B BY B A HAE AL A o
2HETHWEFT L L L L, RRRIIERRENR 1 THHEERNRE] oLk &
T2,
BV ERNTH T2 PRiiEe, RSFLBEL LN L,
(4) ZZFIHAM L, BRFE R OB R ETZ DML 2GR0 & &1, ZHEH - BES
WD 9 AEETHZENTELLDET D, 1L, Wi AL LN & &
X, BEFOBEEIZES b LT 5,
(6) AT DO IR WFIHTH > T, AR OEMITLE LB H AL L FHIHN
FAELZGEIE, HEBB EW#EL., Z0RRICHED Z &,
(6) AL DIEIT, RARMIFE HFL ST KT b > TIT D,
AFLF T, BEICPEHREEFEC CHLREEMEE (1 ARBOHKIIIET)
EMLEICRHET 200 LT 2,

(M EALEIE, TALBENARE ] (ERERIR 2) 2452 &,



REE B
AN R &

mrEte  (EPEEHRERE AT SR )

] 7 e FH R T A 857. 370 mi
T N7 A R T A 153. 680 mi
[E] 5y H 3 1 - ( 153.680 / 1011.050 ) = 84. 80%
BN ( 153.680 /  1,011.050 ) = 15. 20%
ESEARiEk| = FERkEE X 84. 80%
ENHEE = FkEE X 15. 20%
SEERFAD 1 AT OB DN TIE, MNTATECE A B BB E e S

g
SEFICEY BT S b0 LT 5,



